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are given. 1N
circle in front of

fp=a c
2 .Sy ;.5 c-d
@ z+pb c+d a-b C
d a-b_c-d
C) %‘6 (d) Bk Rd
Point (-1, 4) lies in the quadrant:
(@) 1 (b) I V
(c) I (d) IV
The solution set of equation 4x? — 16 = 0 is:
(a) {x4} (b) {4}
© &2 7 (d)af2). iy
The mode inthe data 1, 3, 5,3,7,9 Is:
(a) 1 (b) 3V -
(c) S d) 7
sec?f=----:
(a) 1-sin6 (b) 1+tan?0 v
(c) 1+cos®6 - (d) 1-tan®0

The semi-circumference and the diameter of a circle |
both subtend a central angle of:

(a) 90° (D) 1800
(c) 270° (d) 360°
A complete circle is divided into:
(a) 90° (b) 180°

) 270° (d) 360° v
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nt sets, then AU B Is equal to:

If Aand B areé disjol
(a) A by-B "
(c) ¢ (d) BUA v
product of cube roots of unity Is:
(a) O (b) 1V
(c) -1 (d) 3
oy ik L o
(x —1)(x + 2) AT

(a) A proper fraction
(c) An identity

(b) An improper fraction vV
(d) A constant term

The discriminate of ax?* + bx + c = 0 is:

(a) b2 - 4ac v
(c) —b? + 4ac

(b) b? + 4ac
(d) —-b® —4ac



Ans g 5x2 = 15

Dividing both sides by o
BXE =D
35 55
X2 =3
By taking under root both sides, we get
X = +1/3 . _
(iiiy  Find the discriminant of the following equation:
6x2-8x+3=0 _ '
@ 6X% — 8)( +3=0 |
Discriminant = b4 - 4ac
where, _ -
a=6,b=—8,c=3’_so
Discriminant = (-8)*-4(6)(3)
- =064 -72 |
—piei |

(iv)  Without solving, find tﬁe sum and the product of the
roots of the equation: - -

7X2—5mx+9ngo
m Here,a=7,b—5m,c=gn




having following roots: 2, — 6

ite quadratlc equation

(V) Wr &
XD The given roots are: £ =

Thus,
gum of the roots = 22+ (6-6)

(vij Find wiif: o= .

Ans BT a)=——£_1+ =5

s 2
Then by the properties of cube roots of unity

0')2 o i"z'_ﬂ
(vii) Define direct variation.
@ f two quantities are related in such a way that
increase (decrease) in one quantity causes Increase




Then using componendo dividenothem.
4a+5b 4c+35d

4a-5b 4c-5d
Thus proved.
3. Write short answers to any SIX (6) questions: 12
(i) What are partial fractions?

XD partial fractions can be define as:

Decomposition of resultant fraction %g-% with D(X) # ;

_ 0, when )

(@) D(x) consists of non-repeated linear factors.
(b) D(x) consists of repeated linear factors.
(c) D(x) consists of non-repeated linear factors.

(d) D(x) consists of repeated irreducible quadratic factors.

(i) Resolve into partial fracti LE o
ons:
o (X +2)(x +3) "




X — 2 -4 5

. X+2)x+3) x+2 x+3
(i)  Write all subsets of the set: {a, b}
D 1et, A={a, b}

All subsets of the above set:

- {}{a} {b} {a, b} |
(ivy IfX=¢,Y=2"thenfindXNY.

mGiven, _
XNnY=6n{0,1,2,3, -}
= ¢




class or group are cait
Define arithmetic mean.

D> Arithmetic mean IS 2 |
value of the variable under study by di

values of the variable by their number.
(ix) Find the arithmetic mean by direct method:

12, 14, 17, 20, 24, 29, 35, 45
D Lot x=12, 14,17, 20, 24, 29, 35,40
' L X '
X -'-"'Fl'" | |
2.+ 14417 £ 20 1524 £29 35 4D

s el _

measure that determines aj
viding the sum of all

196
8

'

4. Write short answers to any SIX (6) questions: 12 .

(i) How many minutes are in two right angles?

LID As we know that

1 degree = 60 minutes

- Two right angles ha '
Thus : ve 180 degrees

Two right angles = 180 x 60 minutes
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e R = 10,800 minutes

9
Find tan 0 when cos 0 = 43 an

d 0 terminal side of the

(i)

| angle 0 is in fourth quadrant.

IGD Given condition: : :

— e R g S— L

By Pythagoras theorem,
4 (mAB)? = (mOB)* - (mOA)*

mAB = \/ (mOB)? - (MOA)?
=+/(41)2 - (9)°
=+/1681 - 81 =\I1600
mAB = 40
.. g
So, tan0=Tg
(i) Ifl=4cmo= '} rad then find r.

LD As we know that:
[=r10

Y
"

ﬂ
I

& b Alalds O~

x

&
S bl




= 289 s |
Prove thzastgthe above information IS for right angled

triangle. betwee" minor arc and major arc of a

Differentiate AR
W circle and explain with figure.

D D

A |

C
——

Smaller arc. ACB is called minor arc and greater arc |

ADB is called major arc. | t |
(vij  Define tangent of a circle. L

[ND>» A tangent to a circle is the straight line which |

touches the circumference at one point only.
(vii) Define circumference of a circle.

LYD The length of the boundary of the circle is called the |

circumference.
(viiil What is meant by cyclic quadrilateral?

LU A quadrilateral is called cyclic when a drcte can be |
drawn through its four vertices. |
(ix) Define and draw the sector of a circle.

LYD> A part of the circle bounded by the two radii and an |
arc is called sector of a circle. %
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TIPS

(Part-ll)

(4)

[ 2x+5= \/7x+1

By taking square both sides, we get
(2x + 52 = (\[7x + 16)?
(2x)2 + (5)® + 2(2x)(5) = 7x + 16
4x2+25+20x-7x-16=0
4x2+ 13x+9=0

By solving with factorization method,
4x2+4x+9x +9 =0
4x(x+1)+9(x+1)=0

4x + 9 =0 0 XxX+1=0

e T
=9
ST

(b) Find m, if the equation x? + 7x + 3m - 5 = 0,

satisfy the relation 3o — 2p = 4. (4)
X2+ 7x+3m-5=0 ’

Let a, B, be the roots of equation

S=a+B=———-— (I)
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(1)

=] -
By putting in the given relation, we get
30— 2(-7-a)=4
Ja+14+20=4
5 =4 - 14
-10

= 5

a=-2
By putting in (i), we get
atfp=-7
2+pB=-17
B=-7+2
p=-5
By putting the values of o and B in (ii), we get
(-2)(-5)=3m-95 |
. 10 =3m == o)
= 3m =15
- m=95

Q6.(a)ifa:b::c:d(a b, c, d) # 0 then prove that

a - |at+c? , |
B VBl @

Let,

p—
E
g
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Then,
a=bk I)
c=dK §M
Again, Given
a a‘ + ¢
b~ \/b?+d?
a L
LHS = E (lll)
By putting (i) in (i), we get
_ bk
el o
=K
32 e C2 |

By putting (i) and (ii) in (iv), we get
~ [(bk)? + (dk)?
3 \/ b2 + d?
b2k2 + d2k2

A k2 b2 + d2
=\ 62+ @)

7\"<|
-
N

o0, . i
L.H.S = R.H.S

%= b2 + g2 Proved.

(b) Resolve into partial fractions: (x+1)(x-3)° (4)
[ CTKEORRE SRAR B |
(X+1)(X—3)—X+1+x_3 (i)

X-9 A(x—-3)+ B(x + 1

CHX-3) " (x+)x-3



For finding ‘B,
Put x-—3=0
X =3

By putting x = 3 in (ii), we get
7(3)—9=A(3—3)+ B(3+1)

21-9=0+4B
12 =4B
Y -
e A
- |IB=3
Put the values of A and B in (i),

PHD ot 4 3

(Xx+1)X-3) X+1 x-3

Q.7.(a) If y = {-2, 1, 2}, then make two binary relations for
x y? Also find their domain and range. (4)

Ans y={-21,2}
yxy={-212}x{-2,1,2}
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Ry = {(-2,-2), (-2, 1), (-2, 2), (1, -2). (1, 1), (1, 2),
(2, -2), (2, 1), (2, 2))
R, = {(-2,-2), (-2, 1), (1, 2), (2, 2)
pom R;={21, 2}
range R,={-2,1,2}

Similarly,
TR, = {2, 1), (1, 1), (-2, 2)

Dom R2 - {—21 1}
Range R, ={1,2}

he following frequency distribution shows

T -
(b) f boys in kilogram. Compute Median: (4)

weights O -
-
Gammmaral | 13 [ 4-¢ [ 7-9 [to-t12 [ra-16 | 18 | 1
st
o meral | _Frowency | _©-8__

2 . . 2
3 . ] 5
5 | . 10
4 . | 14
6 : . 20
2 . . 7
1 . 581 23

For obtaining median class,

al . 43
T s 119
Asz—f= 11.5, so with respect to C — F, 4" row is the

median class.
Thus,

oy - h n
Medlan=X=l+?(-2'—c)



TIPS

Q.8.(a) Verify that:

-
------------

Solved Up-o-Date Papers

=05+ 1.125

Median = 10.63

(4)

1+cosO __ sin®
1-cos® 1-cosb

' sl cos 0
Ansg L'H'S"\/1—cose
_.|1+cos® 1-cosP
~\J1-cos6  1-cosb

(1> — (cos B)°

.\ (1-cos0y

1 - cos? 0
| 1 -cos 9
As we know that
sin? O +cos?h=1
sin20=1-cos20

So that,
~Jsin20_

. 1-cos®6
£sInOa
- 1-cos 6
=R.H.S Proved.
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two common tangents to two intersecting

ii 3cm and 4 cm.

ne AB=3+4=7cm.

1. Take a |l

2 Take A as centre and draw circle of 4 cm radius.

3. Take B as centre and draw circle of 3 cm radius which
cut the first circle at two points.

4. Take M as the middle point of AB and draw the circle of
MA radius.

5. Now again consider A as centre and draw the circle of

(4 — 3 =) 1 cm radius which cut the other circle at P and

Qi
6. Join A with P and Q and join the big circle with C and C..

7. Take BT //AD and BE / AC.

8. Join D with T and C with E.
o ©

9. DT and CE are the required common tangents.

Q.9. Prove that if two chords of a circle are congruent
then they will be equidistant from the centre. (4) |

Ansg
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Given.

OH bisects chord AB O
o s |
ie, mAH=5mAB (i)

Similarly OK bisects chord CD | OK L CD By Theorem 3 |
ie., mCK= % mCD  (ii)

But mAB=mCD (iii) | Given |

Hence mAH=mCK (iv) | Using (i), (i) & (iii)

Now in Zrt A* OAH <> OCK | Given OH L AB and OK L CD

hyp OA = hyp OC Radii of the same circle

mAH = mCK Already proved in (iv)
AOAH = AOCK H.S postulate
=  mOH = mOK |

Prove . that the : ' -

quadrilateral

supplementary




ADC, Z2 is a cen
Whereas £B is the circumangle

/4 is a central angle whereas centre O.

/D is the circumangle
m«ZD = % (m«£4) (i) | By theorem 1

B im/D = _;_ 9 Adding (i) and (ii)

+%m44

— % (m£2 + m£4) =—;—
(Total central angle)
.e., mZB + mZD = % (4 ért)

=2/t
Similarly mzZA + mZC = 2/t



